
6 x 2 = 12

12 cm²
3 x 3 = 9

9 

5 x 5 = 25

25

6 x 4 = 24

24



5 x 4 = 20

    20

4 x 3 = 12

12

6 x 3 = 18

18
7 x 4 = 28

28

5 x 3= 15

15
4 x 4= 16

16



8 X 3=24

24
5 X 7 = 35

35

3 x 3 = 9

9

10 x 4 = 40

40

9 x 2 = 18

18

8 x 5 = 40

40



Ici les calculs sont un peu plus compliqués. Il faut trouver 2 rectangles 
dans             chaque figure.

(8 x 3) + (7 x 5)

rectangle 1

rectangle 2

rectangle 1 rectangle 2

24          +       35   = 59

59

|
|
|
|
|
|
<------->
10 - 6 = 4 cm

rectangle 1
rectangle 2

(7 x 6) + (5 x 4)
rectangle 1 rectangle 2

     42     +        20   = 62

62

rectangle 1

rectangle 2

rectangle 1

rectangle 2

30 - 20 = 10 mm

(30 x 5) + ( 7 x 10)
150    +       70    = 220

220

rectangle 1 rectangle 2

7 + 1 = 8 m

(7 x 4) + (8 x 2)
28      +   16     = 44

44

rectangle 1 rectangle 2



rectangle 1

rectangle 2

rectangle 1

rectangle 2
8 - 3 = 5 cm

( 9 x 3) + (5 x 4)
rectangle 1 rectangle 2

27         +      20     =    47

47 cm²

10 + 6 = 16

20 - 15 = 5 mm

(15 x 6) +  (16 x 5)
90     +     80    =  170

170 mm²

rectangle 1 rectangle 2

rectangle 1

rectangle 2

rectangle 1

rectangle 2
8 - 3 =  5 cm

1,5 + 3,5 = 5 m

(8 x3) + (12 x 5)
24     +     60   = 84

84 cm²

(1,5 x 2) + (

5 - 2 = 3 m

3 x 5)
  3      +      15  = 18

18 m²

rectangle 1 rectangle 2
rectangle 1 rectangle 2


